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Five gymnasts are at a gymnastics competition. Each one represents a country and got a score. Find out which athlete got the
highest score.

Uniform: black, blue, green, red, white Height: 5'2",5'3",5'4", 5'5", 5'6"
Country: China, Germany, Japan, Russia, United States Weight: 110 lbs, 115 1bs, 120 lbs, 125 lbs, 130 Ibs
Score: 88, 89, 90, 91, 92 Age: 21 years, 23 years, 25 years, 27 years, 29 years
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At the third position is the 120 lbs gymnast. The American is exactly to the right of the 120 Ibs
athlete.

The Japanese is somewhere between the Russian and _ _

the gymnast wearing the Black uniform, in that order. The gymnast that got 92 points is somewhere to the

right of the gymnast wearing the Blue uniform.
The 5'5" gymnast got the lowest score.

At the fifth position is the lightest athlete.
The athlete wearing the Blue uniform is somewhere to
the left of the 115 1bs athlete. The oldest gymnast is wearing the White uniform.

The tallest gymnast weighs 125 lbs. The gymnast wearing the Black uniform is somewhere

to the left of the gymnast who got 91 points.
At the second position is the smallest athlete.
The athlete wearing the Blue uniform is somewhere

At one of the ends is the 27-year-old gymnast. between the 125 lbs athlete and the 110 lbs athlete, in

The gymnast wearing the Black uniform is somewhere that order.

to the right of the gymnast wearing the Green uniform. In the middle is the 25-year-old gymnast.

The youngest athlete is 5'4" tall. The 5'6" gymnast got 90 points.

At the fourth position is the 21-year-old gymnast. The athlete wearing the White uniform is somewhere

The gymnast wearing the Blue uniform is somewhere to the right of the athlete wearing the Red uniform.

between the Russian and the gymnast wearing the At the fourth position is the gymnast that weighs 115
Green uniform, in that order. Ibs.

The gymnast from China got 88 points.
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Five gymnasts are at a gymnastics competition. Each one represents a country and got a score. Find out which athlete got the
highest score.

Uniform: black, blue, green, red, white Height: 5'2",5'3",5'4", 5'5", 5'6"
Weight: 110 lbs, 115 1bs, 120 lbs, 125 lbs, 130 Ibs

Age: 21 years, 23 years, 25 years, 27 years, 29 years

Country: China, Germany, Japan, Russia, United States
Score: 88, 89, 90, 91, 92
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At the third position is the 120 lbs gymnast.

The Japanese is somewhere between the Russian and
the gymnast wearing the Black uniform, in that order.

The 5'5" gymnast got the lowest score.

The athlete wearing the Blue uniform is somewhere to
the left of the 115 lbs athlete.

The tallest gymnast weighs 125 Ibs.
At the second position is the smallest athlete.
At one of the ends is the 27-year-old gymnast.

The gymnast wearing the Black uniform is somewhere
to the right of the gymnast wearing the Green uniform.

The youngest athlete is 5'4" tall.
At the fourth position is the 21-year-old gymnast.

The gymnast wearing the Blue uniform is somewhere
between the Russian and the gymnast wearing the
Green uniform, in that order.

The American is exactly to the right of the 120 lbs
athlete.

The gymnast that got 92 points is somewhere to the
right of the gymnast wearing the Blue uniform.

At the fifth position is the lightest athlete.
The oldest gymnast is wearing the White uniform.

The gymnast wearing the Black uniform is somewhere
to the left of the gymnast who got 91 points.

The athlete wearing the Blue uniform is somewhere
between the 125 lbs athlete and the 110 lbs athlete, in
that order.

In the middle is the 25-year-old gymnast.
The 5'6" gymnast got 90 points.

The athlete wearing the White uniform is somewhere
to the right of the athlete wearing the Red uniform.

At the fourth position is the gymnast that weighs 115
lbs.

The gymnast from China got 88 points.
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